RESOLUTION NO. 18-08 CITY OF CENTERVILLE, OHIO

SPONSO	RED BY CO	UNCILMEMBER	John	Beals	ON THE
19th	DAY OF _	May	, 200	08.	
	-				

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE JOHN R. JURGENSEN COMPANY FOR THE 2008 STREET PROGRAM (PROJECT SS-1A-08) CONCRETE AND ASPHALT REPAIR AND ASPHALT RESURFACING IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 2008 Concrete and Asphalt Repair and Asphalt Resurfacing Program according to specifications prepared by the City, and

WHEREAS, the John R. Jurgensen Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

- Section 1. That the bid submitted by the John R. Jurgensen Company for the 2008 Street Program, marked as Exhibit "A," attached hereto and made a part hereof, is hereby accepted in the total bid amount of \$503,800.00.
- Section 2. That the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.
- Section 3. That the City Manager be and is hereby authorized to expend an additional \$30,000.00 in accordance with unit prices quoted in the bid submitted by John R. Jurgensen Company in order to allow for contingencies during the project. This results in a total contract amount of \$533,800.00.

PASSED this 19th day of May, 2008.
Mayor of the City of Conterville, Ohio
ATTEST:
Debra a. James Clerk of Council, City of Centerville, Ohio
<u>CERTIFICATE</u>
The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby
The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number passed by the Council of the City of Centerville, Ohio on the/94 day of

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney UNIT PRICE SHEET

PROJECT NUMBER: SS-1A-08

PROJECT NAME: 2008 Street Program - Concrete and Asphalt Repair and Asphalt Resurfacing

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED. RETURN ONE (I) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS.

REF. NO.	SPEC. NO.	DESCRIPTION	EST'D QUAN	r. units	UNIT	AMOUNT BID
		MONTGOMERY COUNTY WATER MAIN BREAK REP	AIRS		e i e a camai	Complete Com
IA	253A*	Pavement repair, Type A	83	SY	100.00	8300.00
1B	253A*	Pavement repair, Type B	65	SY	104,00	6760.00
		GRAND TOTAL COUNTY WATER MAIN BREAK REPA	IRS	1		15060.00
		STREET PROGRAM WORK		-	The second of th	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
2A	201 *	Tree removal, 6" - 12" incl. stump	1	EACH	350.00	350.00
2B	201 *	Tree removal, 12" - 18" incl. stump	1	EACH	450.00	450.00
2C	201 *	Tree removal, 18" - 24" incl. stump	. 1	EACH	550.00	550.00
3A	202	Concrete curb removed	2410	LF	4,50	10845,00
3B	202 *	Concrete drive removed, up to 8 inches thick	740	SF	2,00	1480.00
3C	202 *	Curb ramp removed	250	SF	2.00	500.00
3D	202	Sidewalk removed	700	SF	2.00	1400,00
3E	202	Trench drain removed (Maple)	20	LF	10.00	200.00
4A	253	Pavement repair	830	SY	40,50	33615.00
4B	253 *	Undercutting	50	CY	30,00	1500.00
5	254	Pavement planing w/millings to contractor	23239	SY	1.20	27886.80
5	407	Tack coat, 0.2 gal/sy	3000	GAL	.01	30.00
,	422	Single chip seal with polymer binder	13000	SY	2.08	27040.00
BA	423	Crack seal, Type II - before paving	7500	LBS	1.28	9600.00
ВВ	423	Crack seal, Type II - thoroughfare streets	19300	LBS	1.28	24704.00
A	448 *	Type 1, Asph. Concrete Surface Course, PG64-22, medium traffic,	500	SF		
		4" thick, driveway	1		3.50	1750.00
В	448	Type I, Asph. Concrete Surface Course, PG64-22, medium traffic,	1363	CY	1	
į		1-3/4" or 2" thick, placed in 2 lifts			122.00	166286.00
0A	452 *	Concrete driveway, 6" thick	500	SF	8.00	4000,00
0B	452 *	Concrete driveway, 8" thick	240	SF	10,00	2400.00
1A (603	12" Pipe replaced (lateral)	126	LF	70.00	8820.00
		36" Pipe replaced (Whipp)	26	LF	150.00	3900.00
	504	Major catch basin repair with new gutter grates	8	EACH	1700.00	13600.00
	1	Minor catch basin repair	2	EACH	900.00	1800.00
		Major catch basin repair w/pipe	2	EACH	2000.00	4000.00

Description Quant units	KEP.	SPEC.		EST'D		UNIT	AMOUNT
2E 604 CB existing R/M & R/PL w/ Type A 7 EACH 1900 \cdot \cdot O 13300 \cdot \cdot O \cdot CB existing R/M & R/PL w/ ODOT Type 3A 2 EACH 1850 \cdot \cdot O 3700 \cdot O \cdot O \cdot O 0 0 0 0 0 0 0 0 0	VO.		DESCRIPTION	QUANT	. UNITS	PRICE	BID
2P 604 CB existing R/M & R/PL w/ODOT Type 3A 2 EACH 1850.00 3700.00 37	2D	604*	Minor catch basin repair w/pipe	2	EACH	1250.00	2500.00
26 604 CB existing R/M & R/PL width new · Type ' A 1	2E	604	CB existing R/M & R/PL w/ Type A	7	EACH	1900.00	13300.00
28	2F	604	CB existing R/M & R/PL w/ODOT Type 3A	2	EACH	1850.00	3700.00
1	2G	604	CB existing R/M & R/PL w/ODOT Type 3	3	EACH	2500.00	7500.00
	2H	604	Manhole - R/M exisitng & R/PL with new - Type 'A'	1	EACH	3000.00	3000.00
RK 604 Water valve adjusted to grade	21	604	Manhole - minor repair	3	EACH	1000.00	3000,00
10	2J	604	Manhole - adjusted to grade	25	EACH	345.00	8625,00
100	2K	604	Water valve adjusted to grade	10	EACH	28,00	280.00
608 4" Sidewalk, concrete 700 SF 7,00 4900.00 A 609 * 6" Curb ramp, concrete 250 SF 16.00 4000.00 B 609 Concrete curb & gutter replaced 2410 LF 24,00 57840.00 C 609 * Extra cost for concrete curb & gutter replaced - with MS concrete 100 LF 5,00 500.00 614 Traffic maintenance 1 LS 3960,43 3960.43 3960.43 A 644 Centerline, double yellow, 4" 161 LF 3,50 563.50 B 644 8" White channel line 105 LF 1,45 152.25 C 644 Arrows, left, white 1 EACH 130.00 130.00 D 644 ONLY, white 1 EACH 130.00 130.00 E 644 24" STOP bar (white) 18 LF 5,00 90.00 F 644 12" Crosswalk (white) 85 LF 2,50 212.50 G 644 SCHOOL (white) 2 EACH 400.00 800.00 921 * Asphalt pavement rejuvenator 23834 SY .70 16683.80 Spec Tensar base reinforced (SS-2 or approved equal) 100 SY 5,00 500.00 GRAND TOTAL STREET PROGRAM 488740.00 GRAND TOTAL ENTIRE STREET PROGRAM 488740.00 GRAND TOTAL ENTIRE STREET PROGRAM 488740.00 GRAND TOTAL ENTIRE STREET PROGRAM 503800.00 GRAND TOTAL ENTIRE STREET PROGRAM 488740.00 GRAND TOTAL ENTIRE STREET PROGRAM 503800.00 GRAND TOTAL ENTIRE STREET PROGRAM 100 SY 5000.00 GRAND TOTAL ENTIRE STREET PROGRAM 100 SY 5000	3A	605	Underdrain, 4" under grass	700	LF	9,00	6300,00
A 609 * 6" Curb ramp, concrete	3B	605	Underdrain, 4" under drive	100	LF	16,00	1600.00
B 609 Concrete curb & gutter replaced 2410 LF 24,00 57840,00 C 609	4	608	4" Sidewalk, concrete	700	SF	7,00	4900.00
Extra cost for concrete curb & gutter replaced - with MS concrete 100	5A	609 *	6" Curb ramp, concrete	250	SF	16.00	4000,00
614 Traffic maintenance 614 Centerline, double yellow, 4" 615 LF 616 LF 617 LF 617 LF 617 LF 618 S" White channel line 610 LF 617 LF 618 LF 610 LF	5B	609	Concrete curb & gutter replaced	2410	LF	24,00	57840,00
1	5C	609 *	Extra cost for concrete curb & gutter replaced - with MS concrete	100	LF	5,00	500.00
B 644 8" White channel line 105 LF 1.45 152.25 C 644 Arrows, left, white 1 EACH 100.00 100.00 D 644 ONLY, white 1 EACH 130.∞ 130.∞ E 644 24" STOP bar (white) 18 LF 5.00 90.00 F 644 12" Crosswalk (white) 85 LF 2.50 212.50 G 644 SCHOOL (white) 2 EACH 400.00 800.00 921 * Asphalt pavement rejuvenator 23834 SY .70 166.83.80 Spec Loop detectors, replaced in kind 2 EACH 897.86 1795.72 Spec * Tensar base reinforced (SS-2 or approved equal) 100 SY 5.00 500.00 GRAND TOTAL STREET PROGRAM 488.740.00 GRAND TOTAL ENTIRE STREET PROGRAM 488.740.00 **Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	6	614	Traffic maintenance	1	LS	3960,43	3960.43
CC 644 Arrows, left, white 1 EACH 100.00 100.00 D 644 ONLY, white 1 EACH 130.00 130.00 E 644 24" STOP bar (white) 18 LF 5.00 90.00 F 644 12" Crosswalk (white) 85 LF 2.50 212.50 G 644 SCHOOL (white) 2 EACH 400.00 800.00 921 * Asphalt pavement rejuvenator 23834 SY .70 16683.80 Spec Loop detectors, replaced in kind 2 EACH 897.86 1795.72 Spec * Tensar base reinforced (SS-2 or approved equal) 100 SY 5.00 500.00 GRAND TOTAL STREET PROGRAM "Ifems are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7A	644	Centerline, double yellow, 4"	161	LF	3,50	563.50
D 644 ONLY, white 1 EACH 130.00 130.00 E 644 24" STOP bar (white) 18 LF 5.00 90.00 F 644 12" Crosswalk (white) 85 LF 2.50 212.50 G 644 SCHOOL (white) 2 EACH 400.00 800.00 921 * Asphalt pavement rejuvenator 23834 SY .70 16683.80 Spec Loop detectors, replaced in kind 2 EACH 897.86 1795.72 Spec * Tensar base reinforced (SS-2 or approved equal) 100 SY 5.00 500.00 GRAND TOTAL STREET PROGRAM "Items are contingent tiems. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7B	644	8" White channel line	105	LF	1.45	152.25
E 644 24" STOP bar (white) F 644 12" Crosswalk (white) G 644 SCHOOL (white) Spec Loop detectors, replaced in kind Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM "Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7C	644	Arrows, left, white	1	EACH	100.00	100.00
F 644 12" Crosswalk (white) G 644 SCHOOL (white) 921 * Asphalt pavement rejuvenator Spec Loop detectors, replaced in kind Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM "Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7D	644	ONLY, white	1	EACH	130.00	130.00
F 644 12" Crosswalk (white) G 644 SCHOOL (white) 921 * Asphalt pavement rejuvenator Spec Loop detectors, replaced in kind Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM "Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7E	644	24" STOP bar (white)	18	LF	5,00	90.00
921 * Asphalt pavement rejuvenator Spec Loop detectors, replaced in kind 2 EACH 897.86 1795.72 Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM GRAND TOTAL ENTIRE STREET PROGRAM *Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7F	644	The American American and the feet and increased in the contract of the contra	85	LF	2,50	212,50
921 * Asphalt pavement rejuvenator Spec Loop detectors, replaced in kind 2 EACH 897.86 1795.72 Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM *Items are contingent items. The Cify may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	7G	644	SCHOOL (white)	2	EACH	400,00	800.00
Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM *Items are contingent items. The Cify may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-			Control to the contro	23834	SY	.70	16683.80
Spec * Tensar base reinforced (SS-2 or approved equal) GRAND TOTAL STREET PROGRAM GRAND TOTAL ENTIRE STREET PROGRAM *Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	9	Spec	Loop detectors, replaced in kind	2	EACH	897.86	1795,72
GRAND TOTAL ENTIRE STREET PROGRAM *Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-		e Familia	Tensar base reinforced (SS-2 or approved equal)	100	SY	5.00	500.00
GRAND TOTAL ENTIRE STREET PROGRAM *Items are contingent items. The City may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-						ein-war (ine) (
*ffems are contingent items. The Cify may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-			GRAND TOTAL STREET PROGRAM				488740.00
*ffems are contingent items. The Cify may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-			CD AND TOTAL ENTINE STREET BROCK AM			- A WELL VINE NOTE - 40000000	503800.00
performed due to agreement with Montgomery County.			*ffems are contingent items. The Cify may request performance of said work dependent on actual field conditions. In the case of repairs at County main break locations, work may be non-	#		- 1 - 9-0	303800.00
			TO THE RESPONSIBLE TO THE PROPERTY OF THE PROP				
				E .			The second real region of
		Carles .		10			
	1						
				114	-		

19 All	
EXECUTION OF PROPOSAL	
NOTE: Failure to signt he proposal shall result in rejection of the bid.	
THIS PROPOSAL SUBMITTED BY: John R JURGENSEN CO	1
NAME OF CONTRACTOR SIGNATURE PathW Flora	
DATE: 5/6/08	- 1 3
Contact person for contract processing: Peter w Flora	X B a s
Mailing address if different from above: CONTRACT PREPARATION INFORMATION	
The bidder shall supplement the proposal by supplying the following information for use in th	e preparation of the Contract.
COMPANY: John R Jurgensen Co	NUMBER OF WORKING DAYS TO
BY: Peter Flora	COMPLETION FROM DATE OF
TITLE: Manager	NOTICE TO PROCEED: 101
ADDRESS: 1780 Enon Rd Springfield OH 45502	
PHONE: 937-882-6233	
FAX: 937-882-6957	
FEDERAL TAX ID	